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M. A. (ECONOMICS) (MEC)
Term-End Examination
June, 2025

MEC-006 : PUBLIC ECONOMICS

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from both Sections as

per instructions given in each Section.

Section—A

Note : Attempt any two questions from this
Section. 2x20=40

1. (a) What is a ‘Social Welfare Function’ ?
Explain  briefly the  Samuelson-

Bergson’s social welfare function.

(b) Distinguish between ‘social choice’ and
‘public choice’. Also account for the fact
that the Public Choice Theory is of

growing interest among policy-makers.
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2. Distinguish between ‘Local Public Goods’
and ‘National Public Goods’. Explain how
can externalities be a source of economic
inefficiency.

3. Explain the concept and significance of
‘International Policy Coordination’. Identify

the various problems involved in this
process. How can these be solved ?

4. Discuss briefly the concept of public debt
management. Also explain the principles of
public debt management.

Section—B

Note : Attempt any five questions from this
Section. 5%X12=60
5. [Explain the following in brief :
(a) Lindahl pricing
(b) Prisoner’s dilemma
6. “Privatisation  fosters  efficiency and

innovation.” Do you agree with this
statement ? Discuss fully.

7. What do you understand by the concept of
‘Optimal Income Taxation’. In this context,
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examine the contribution made by J.
Mirrlees.

8. What 1is ‘natural monopoly’ ? How are
pricing decisions derived by a natural
monopoly firm ?

9. State briefly the stages of policy formulation
model. Also examine its strengths and
weaknesses.

10. Critically examine Arrow’s Impossibility
Theory.

11. What do you mean by ‘Joint Ventures’ ? How
will you designate them as ‘public
enterprise’ or ‘private enterprise’ ?

12. Write short notes on any three of the
following :

(a) Merit good

(b) Welfare Economics and  Public

Economics

(c) Free Rider Problem
(d) Crowding out effect
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MEC-006

FTaeR SUTfer (tefomes) (Tm. €. 4t.)
WA TIT
S, 2025
TH.E.H.-006 : AraA{-eh refomest

gayg ;3 yo2 SfeFaH 37F : 100

Jie : T4l GUel T foT T [¥gaR 941 & W S/

gug—ch

I : 35 TGUE G fH5T @t 91 & I ST 2x20=40

1. () ‘9mifss weam wed F ¥ 2 989 H
YT~ TE & GrTfSish Hearol Herd i

AT HITSIT |
(@) ‘gt ==’ agn ‘gt 99 B SRR
FarRu | “ifq Fmiaed & Ter geEse 99
fagra # ¥ o8 W %" 3@k wRO0 A

AT HITSIT |
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2. ' WENe aRge’ adr U Hiesieh

TEgell’ @ e SRR JaET | AT Hifee fh fhy
YR STRIATY STfeeh 2rgeranedi =l Wid 2 Fehdll B |

e _n

3. ‘ST ifa G’ HT STIYRUN q9T He i
e wiftee ) 39 9fwer O gfmfag faf=
TS Sl AR | 39 guEned w1 T few

goh ToRar ST Hehal § ?

4. HESIeR R0 GoEH i ATYURON hi T H ==l
HIfS | WY & TESIe B0 YoeH & fag=il i
o} SEAT ShifSTu |

gus—g

T : 39 @S T 3] giel §941 & S G
12x5=60
5. fy=fafed st 989 | =ren sy
(%) ferea &iHd (Lindahl Pricing)

(@) it #1 55 (Prisoner’s dilemma)

6. “fASTIeRor TeTdT Wa Ta9ad bl dgiar & 1" SR 3T
9 HIT Y THA § 2 U forereT hifag |
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7. 'SIIRAdH I HIAYU' HI STEEROT G A9 A
g € 2 39 e # 9. fiefta g few u A
T TRI&T01 HIFST |

8. 'Uipfad THITURR' T ¥ ? Uihfaw THIEN
wH g SEdqaRo-fuie e ger fau S@
€2

9. Hifa-fmio gfaam =1 fafa= stoeenssi =1 9&q §
SATET | |1 B ST SISl Tal ShHSal Rl THET0T
oft spifSre |

10. U & AGeeAl TG w1 SAel=ATcTs &0
HITT |

11. ‘= 3usH’ (Joint Ventures) ¥ 31T I FHeAd
¥ 2 219 3% ‘g SushH’ 3teren ‘st Sushd’
% &9 H fhd YR GEHEIHA il ?

12. frfafed § & fodl @9 W dfya feoforar
fafem .

(%) Hifte oeqd
(@) FAURR] el §H AU T FrelsiTh
SNt

(1) 7 3RS T9E (Free Rider Problem)

(%) foweR= 9918 (Crowding out effect)
XX XXX
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